Unit 2 System of linerar word problems December 02, 2014

The following chart ¢ s a suntriiry BT Possibilities for the graph of two

: . . . linear equations in two variables.
Unit 2 |Graphing System of linear equation word problems 5
Type of System Example Nature of Solutions Graphic
Objectivet Students will be able to: Same STops & ytercept
X+y=2= . e ,
Dependent, ) Infinite number of | One line “on top of”
" . . == .
Write & graph a linear system from a pen U solutions — they are | another
| id bl Consistent 3x+3y=6=> tho same Line! /
real world problem. et
* . Different Slope
Analyze the graph to find an X+2y=5= 2 .
; ; 5 Ug e soluton — the | ETSeCHon
appropriate solution to the system. Independent, | y=Cgx+5 | STEESOU
Consistent 2 2 lines infersect at one
onsisten Dxty=15= point
y=2x+15
2x+5y=25=> Sanje slope but different ytintercept
_e 5 .
Independent, Ml A No solutions - the
Inconsistent 6x+15y=30= lines are parallel
y= —%x +2
After how many miles are 5 1 77
A & B the same price? . F
Compare three towing companies by writing an equation and graphing the charge Same price ek 20mi A
of the th& based on the number of miles that need to be taken. L l/
N e . . Afterlhow many miles are 3 =z
Write their equations and graph then to compare companles.. B & C the same price? -
& Auto Shop Towing: . m= H?eﬁ U /w Stee price at L o
$1§to come pick you up, $0.50 a mile for the tow. . N u F G pYai
—— After how many miles are . 2adBSCLAE,
Benny's Wrecker service: - A & C the same price? Vi z
$ﬁ()_ri(m1_em up, $0.75 a mile for the tow. garu P«m at I } 2 .
Cary Automotive: For what miles is A the best \\g 1 £n |
6 miles cost $10, 12 miles cost $19 (Find the slope and y-intercept, change to deal? Rest deal Lo "
slope intercept form) C (6,9 2 m 4 wp. b /
_pub s . ar (i) For what miles is B the best -
Ut Shaf fenny's wee thors i Y deal? Be #n-2en /1220 m; *
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oz Yellow
he Yellow Cab Company charges just $0.25 a mile, but it cost $5 to get into he ": i 5 % =1
cab. Express Cab charges no fee to get in the cab, but $1.50 a mile for the ride. ™ % - /
Write the system of equations and graph the system. 4 .
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a) If you are going 7 miles which cab company should you call? 3 &
v £ ~
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b) If you are going 3 miles, which company should you call? (\“ o 1 =
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c) For what length of a drive is the cost equal? : =
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